
7 pt. Snowflake with Pearls & Cluny Tatting

by Dagmar Pezzuto 2013

R = ring

CH = chain

Clr = close ring

+ = join

M = bead

! = seed beads.

Round 1

R1 = 1ds M 1ds M 1ds M 1ds M 1ds M 1ds. Clr.

Round 2

Ring with pearl (M) in center

http://www.janeeborall.freeservers.com/BeadRing.pdf

R2 =  5ds – 5ds M 5ds- 5ds.Clr. Make 6 rings joined.

Also join rings 2, 4 and 6 in the inner ring.

R7 Split ring 5 + 5 M/ 5 - 5

http://www.janeeborall.freeservers.com/AddBeadCentreSR.pdf 

Round 3

Cluny 1 = 17 passes;  Cluny 2 = 17 passes

Ring with seed beads = 1ds ! 1ds ! 1ds ! 1ds ! 1ds ! 1ds. Clr. RW 

Cluny 3 = 17  passes;  Cluny 4 = 17  passes

CH = 3ds - 1ds – 1ds – 3ds.


